Questions Page 1 of 10

{: Print this page }
Course: VLA Math Algebra |_1
Unit: Proportions, Percents, and Statistics

Answer the following questions below:

1) Define a ratio.

A ralio is a comparison of fwo quantities and is oftern written as a fraction. -

3921 character(s) left

Attachment(s). None
!':Save.jl
Not Graded

2) Define a proportion,

A proportion is any statement that two ratios are equal, -

3943 character(s) leift

Attachment(s): None
[Saveli
Not Graded

3} Explain how to soive proportions for unknown variables.

Cross products are used to solve for a missing value in a proportion. Solving proportions is a ».
matter of stating the ratios as fractions, setting the two fractions equal to each other, cross-
multiplying, and solving the resulting equation. -

3761 character(s) left

Aftachment(s): None
[ save |
Not Graded

4} Determine if the following ratios are eqgual by using cross products.
6 47
24 21

® a.)yes

Tbk)no

Attachmeni(s). None
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[Saveii
Not Graded

5) Determine if the following ratios are equal by using cross products.
2 60
16 80
@ a)yes
A b.)no
Attachment(s): None
[Save]

Not Graded

6) Determine if the following ratios are equal by using cross products.
1248
8 34
“a)yes
@b.)no
Attachmeni(s). None
{Save ]

Not Graded

7} Determine if the following ratios are equal by using cross products.
12 27
20 45
P a)yes
“¥b.)no
Attachment(s). None
[Save_:t
Not Graded

8) Solve the proportion.
x 9

4 12
L |

250 character(s) left

Altachment(s): None
{-Save :l

Not Graded
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9} Solve the proportion,
z_ 80
10 240

i

250 character(s) left

Attachment{s}: None
%:Savejl
Not Graded

10} Solve the proportion.
x+2 3x

3 &

E

250 character(s) left

Attachment(s). None
[save |
Not Graded

11} Solve the proportion.
2x—5 3z

10 20

!

250 character(s} left

Attachment(s}: None
[save

Not Graded

12) Solve the proportion.
2 Z+3

I

7 i4
250 character{s) left

Attachmeni{s): None
[ save |
Not Graded
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Refer to the similar pentagons below and use proportions to find the unknown lengths in the next
three problems.

13) What is the value of "xX"?

250 character(s) left

Attachment(s). None
'{_Save]
Not Graded

14) What is the value of "y"?

250 character(s) left

Attachment(s): None
E:_Sa'vef_i
Not Graded

15) What is the value of "2°?

250 character(s} left

Aftachment{s): None
[Save:i

Not Graded

16) Use a proportion to solve the following problem: The ratio of the gravity on Mars to the gravity on
Earth is about 3/8. If Becky weighs 130 pounds on Earth, how much will she weigh on Mars?

250 character(s) left

Aftachment(s}): None

https://www.gsn-via,com/vla/Student/LessonQuestions.aspx7L=2174&CS=174768&S8S8=tr... 10/7/2012
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[ save]
Not Graded

17) Use a proportion to solve the following problem: A picture that is 4 inches long and 6 inches wide is
enlarged so that it is now 7 inches long. What is the width of the enlarged picture?

! |

250 character(s) left

Attachment(s). None
[save |

Not Graded

18) Use a proportion to solve the following problem; The ratio of boys to girls at & school is 7/5. If there are
504 students who attend the school, how many are boys? (Hint: Find the ratio of the number of boys to
the total number of students.)

i ]

250 character(s) left

Attachment(s}): None
[Savej!

Not Graded
Solve the next seven problems by using a proportion,

19) 27 is 60% of what number?

250 character(s) left

Attachment(s): None
i:Save i
Not Graded

20) What is 136% of 857

250 character(s) left

Attachmeni(s); None
ISaveZE
Not Graded
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21) What percent of 80 is 10?

I Il

250 character(s) left

Attachment(s): None
ESave:I
Not Graded

22) Jim bought a TV on sale for $127.50 after a 15% discount. What was the original price of the TV?

250 character(s) left

Altachmeni(s): None
[ Save |
Not Graded

23) The Blue Hawks won 51 games and lost 24 games. What percent of the games did the team win?

250 character(s) left

Attachment{s): None
[.Save j
Not Graded

24) Lori paid $26 for a pair of jeans that she bought on sale. This was 65% of the original price. What was
the original price?

i |

250 character(s) left

Attachment(s). None
[Save |
Not Graded

25) Amy bought two pairs of shoes that cost $39 each. If the sales tax in her state is 7.5%, what was her
total bil?

l | |

© 250 character(s) left

Altachment(s): None
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{_Save:l
Not Graded

26) Define the mean of a set of data and explain how to find it.

4000 character{s) left

Attachment{s): None
ZSave:l
Not Graded

27} Define the median of a set of data and explain how te find it.

4000 character(s) left

Attachmeni(s). Nonhe
iSavejl
Not Graded

28) Define the mode of a set of data.

4000 characier(s) left

Altachment(s): None
[Save]
Not Graded

29) Define the range of a set of data.

4000 character{s) left

Attachment{s): None
{Savej_l
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Not Graded

30} State the mean, median, mode, and range for the set of data.
nurmnber of runs scored in 8 baseball games: 2, 4, 1, 0, 7, 3, 4, 3
mean =7 median =7 mode =7 range =7

[ 1

250 character(s) left

Attachment(s): None
[save]

Not Graded

31) State the mean, median, mode, and range for the set of data.
amount of snow accumulation (in inches) per week tor

the past 10 weeks: 14, 8, 15, 5, 3, 2, 2, 8, 4, 2

mean =7 median =7 mode="7  range="7

250 character(s) left

Attachment(s); None
[ save |
Not Graded

32) State the mean, median, mode, and range for the set of data.
the average temperature per week for 11 weeks:

86, 84, 88, 91, 83, 72, 78, 82, 81, 77, 80

mean =7 median =7 mode="7 range =7

L

250 character(s) left

Attachment(s): None
[save ]
Not Graded

Review
33) Solve the system of equations by using substitution.

y=2
2x—4y=1
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!

250 character(s) left

Attachment(s). None
[save]
Not Graded

34) Find the product,

yi-y=2 yi4y-2
y+2 y-2
|

250 character(s) left

Attachment(s): None
[save |

Not Graded

35) Soive the quadratic equation by factoring.
0=x%—7x+12

1

250 character(s) left

Attachment{s). None
f_Save'i

Not Graded

36) Simplify the expression by using positive exponents. State the letter of the correct answer,

22

A x1® B. x? c L D — g L
x5

250 character(s) left

Attachment{s}): None
f_S.ave.:l
Not Graded

37) Find the sum.
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[

250 character(s) left

Attachment(s): None
[ save ]
Not Graded

38) Solve for “a”.
a4 @

g

302

L

250 character(s) left

Attachment(s): None
iSave__j
Not Graded

39) Find the slope of the line containing the points (4, 5) and (-3, -9).

250 character(s) left

Attachment(s). None
{_S_avej
Not Graded

40) Find the slope of the Iine that is perpendicular to the line represented by the equation shown below.
12=2x ~3y

L i

250 character(s) left

Attachimenti(s). None
fSavezI
Not Graded

E - All Finished! Review My Answers
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( Print this page ;
Course: VLA Math Algebra |_1
Unit: Functions and Relations

Answer the following questions below:

1) What can the graph of a function show?

>

it can allow you to determine if the relation is a function or not. If the vertical line does not touch
maore than one point at a time, the relation is a function. if the vertical line touches more than one
point at a time the relation is not a function.

3748 characler(s) left

Aftachment(s): None
[save ]
Not Graded

2) Define relation.

A relation is a set of ordered pairs. »

3963 character(s) left

Attachment{s}. None
gSave]
Not Graded

3} Define function.

»

A function is a special type of refation because each element of the domain is paired with exactly
one element of the range.

3876 character(s) left

Attachment(s): None
[save]
Not Graded

4) State the two important parts of a function and define each part,

4000 character(s) left

Aftachment(s). None

https:/fwww.gsn-vla.com/vla/Student/LessonQuestions.aspx?L=2123&CS=174768&SS=1r... 10/7/2012
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gSave:l
Not Graded

5) Determine if the relation is a function. State "yes" or "no”. if "no”, explain why.
{(January, snow}, (February, hearts), (December, snow), (August, sun)}

4000 character(s) left
Attachment(s): None
[.Saveil

Not Graded

8) Determine if the relation is a function. State "yes" or "'no”. If "no”, explain why.
{{goll, green), (football, brown), (skiing, white), (tootball, green))

4000 character{s} left

Altachment{s}: None
iSave,]

Not Graded

7} Determine if the relation is a function. State "yes” or "no”. If *no”, explain why.
{2 3), 2, 6,-3), (=3,06]]

i |

250 character(s) left

Altachment(s): None
{Save:i
Not Graded

8} When a relation is graphed in the coordinate plane, describe how to determine if the relation is a
function.

4000 character(s) left

Attachment(s} None

hitps://www.gsn-vla.com/vla/Student/LessonQuestions.aspx?L=2123&CS=174768&SS=tr... 10/7/2012
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ESavej}
Not Graded

9) Is the graph a function?

l

250 character(s) left

Altachmeni(s): None
[Save

Not Graded

10) Is the graph a function?

(

250 character(s) left

Attachment{s). None
I.Sav_ei

Not Graded

11) Is the graph a function?

https:/fwww.gsn-via.com/via/Student/TessonQuestions.aspx?L=2123&CS=174768&SS=tr... 10/7/2012
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1

250 character(s) left

Attachment(s): Nonhe
[save |

Not Graded

12) Is the graph a function?

uuuuuuuuuu

L

250 character(s) left

Attachment(s). None
[Saveji
Not Graded

13} Evaluate.
Flxy=2x44+2x-4 For F(=1)
|

250 character(s) left

" Attachment(s): None
[Save:]
Not Graded

14} Evaluate,
g(x)=5x* -3x for g(2)

L

250 character(s) left

Attachment({s): None

I =
| Save |

KAt Mrardad
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15) Evajuate.
Wxy=x—x*+2x-1 Forh(-3)

l

250 character{s} left

Altachment(s): None
[save]
Not Graded

16} Evaluate.
Jix)= %'2;2 + —2 x For f(%)
f

250 character(s) left

Aftachment(s). None
[save |
Not Graded

For the next four problems, refer to the function shown below and find the ordered pairs for the
domain described in each problem.

)= x2+1

17) List the set of ordered pairs that has a domain that consists of integers from -2 to 4.

i 1

250 character(s) left

Attachment({s): None
[Save]

Not Graded

18) List the set of ordered pairs that has a domain that consists of even integers from -6 to 2.

250 character(s) left

Attachment(s): None
iSave]
Not Graded
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19) List the set of ordered pairs that has a domain that consists of muttiples of 3 from -3 to 15.

250 character(s) left

Attachment(s). None
]:._Savezl

Not Graded

20) List the set of ordered pairs that has a domain that consists of odd integers from —11 to -1,

250 character(s) left

Altachment(s): None
[Save_:l
Not Graded

21) What is a transformation of a function?

4000 character(s) left
Attachment{s). Nonhe
{Savejl

Not Graded

22) What is a translation of the graph of a function?

4000 character(s) left

Attachment(s). None
[Savej}
Not Graded

23) What is a pre-image of the graph of a function?

https://www.gsn-via.com/vla/Student/LessonQuestions.aspx?L=2123&CS=174768&SS=tr... 10/7/2012
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4000 character(s) left

Attachment(s): None
ESaVe:l
Not Graded

24) What is an image of the graph of a function?

4000 character(s) left

Attachment(s): None
iSavej
Not Graded

Refer to the diagram below to solve the next two problems.

» W f”l [ ] & [ H 8 [ [ N
pre-image * " * * * v+
- R - ] » - L] ] " L] ] o

» ] ] 3 » :

25} Choose a point on the pre-image and state the corresponding coordinates on the image.

4000 character(s) left

Attachment(s): None
i-Save‘i

Not Graded

28) Describe the translation from the pre-image to the image.

https://www.gsn-vla.com/vla/Student/LessonQuestions.aspx?L=2123&CS=174768&SS=tr...
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4000 character{s) left

Attachment(s): None
[Save;;
Not Graded

Refer to the diagram below to solve the next two problems.

L] a s & * L]
# L] E] - [ &
¥ L] * L]
L * L] & » L]
¥ ] ¥ L] & L4 ] * L3
L] » r L] - L4 L] # L]
L . * ¥ L * [ * »
* L] L ® ¥ ] ] L] ¥
L] - L) - - [ ] L] L
L] L] ¥ ¥ L] * * » L]
3 i % ¥ 3 5 1 y 1 ]
2 3 4 5 4 2 8 9

# - - [ & L] L] - #
» L] L] L] L] # » . -

27) Choose a point on the pre-image and state the corresponding coordinates on the image.

4000 character(s) left

Attachment(s): None
[Savej
Not Graded

28) Describe the transiation from the pre-image to the image.

4000 character(s) left

Attachment(s). None
[Save}

Not Graded
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29) Vertical translations are moves made that are parailel to what axis?

l

250 character(s) left

Attachment(s}: None
[save]
Not Graded

30) Horizontal translations are moves made that are paraile! to what axis?

250 character(s) left

Attachment(s): None
ESave:i
Not Graded

31) How are horizontat translations useful?

4000 character(s) left

Attachment(s): None
[save |
Not Graded

32} A function f(x) and a parent function g(x) are shown below. Describe the translation of the function f(x)
from the parent function g(x).

J@=lx+2-4, g(x) =4

4000 character(s) ieft

Attachment(s): None
[save
Not Graded

33) A function g(x) and a parent function h(x) are shown below. Describe the translation of the function g
(x) from the parent function h(x). '

https://www.gsn-vla.com/via/Student/LessonQuestions.aspx?L=2123&CS=174768&SS=tr... 10/7/2012
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g(x)= 2" +3, A(x)=x’

4000 character(s) left

Attachment(s): None
[save |

Not Graded

34} A function h{x) and a parent function f(x} are shown below. Describe the translation of the function h(x)
from the parent function f(x).

My =(x- D45, Flx) =%

4000 character(s) left

Attachment(s). None
[S.avej

Not Graded

35) A function gfx) and a parent function h(x) are shown below. Describe the translation of the function g
{x) from the parent function h(x).

g(x) =|x|-6, #(x)=]al

4000 character(s) left

Attachment{s): None
[save]
Not Graded

Review

36) Solve: 5x — (7x +4) =3+ 8) +4{6-2x)
!

250 character{s} left

Attachment(s): None

https://www.gsn-vla.com/vla/Student/LessonQuestions.aspx?L=2123&CS=174768&SS8=tr... 10/7/2012
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{Save]
Not Graded

37) Graph the given equation. State the letter of the correct answer.

R '.4xw5y_;1.5

A \\ T s - 1 1

o T : -

250 character(s) left

Attachment(s): None
iSavezg
Not Graded

38) Graph the given inequality. State the letter of the correct answer.

2x+3y%6

- y——

https://swww.gsn-via.com/via/Student/LessonQuestions.aspx7L=2123&CS=174768&SS=t...  10/7/2012
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l

250 character(s) left

Attachment{s). None
[ Save |

Nof Graded

39) Write the expression using positive exponents. State the letter of the correct answer,
~3q 7
2a?b

250 character(s) feft

Attachment(s): None
[Save |

Not Graded

40) Factor by grouping: mr+ 3m+ 2r+ 6

250 character(s) left

Attachment{s): None

Not Graded
41) Rewrite the function in vertex form, and then state the veriex, the axis of symmetry, and the direction

of opening.
y=x*+52+4

hitps://www.gsn-vla.com/vla/Student/LessonQuestions.aspx?1.=2123&CS=174768&SS=tr... 10/7/2012
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4000 character(s} left

Aftachment(s); None
[S.avej

Not Graded

42} Solve for *x".
X2 +5x—24=0

i

250 character(s) left

Attachmeni(s): None
§;Save_i|
Not Gracled

[ = AllFinished! Review My Answers ... ]
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[ Printthis.page |

Course: VLA Math Algebra |_1
Unit: Probability

Answer the following questions below:

1) When working with probability, explain the use of a tree diagram.

4000 character(s) left

Aftachment(s): None
[save]

2) Rachel is taking her frisnds to her favorite Mexican restaurant for lunch. The lunch special is shown
helow. (a) How many different combinations can Rachel and her friends make? (b) Draw a tree diagram to
determine how many choices are available, and then list all possible choices.

20000 character(s) left

Attachment(s). None

You may altach a file, if you choose. %Attach File

r© Il
| Save |

3) A store that sells sporting goods stocks 10 styles of shoes. Each siyle comes in 8 sizes and 5 colors.
How many shoes must the store stock in order to have one pair of each siyle, size,-and color?

https:/fwww.gsn-vla.com/via/Student/LessonQuestions.aspx?1.=2098&CS=174768&SS=tr... 10/7/2012
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250 character(s) left

Attachment(s); None

I =
| Save |

Use the Fundamental Counting Principle to determine the number of choices for each situation in
the next three problems.

4) A business woman has 8 skirts and 4 sweaters. How many different outfits can she make?

L |

250 character{s) left

Attachment(s): None

(s i3
| Save |
L. o

5) A menu contains 5 main dishes, 3 side dishes, 2 salads, and 4 desserts. How many different meals can
be made with the selection?

l l

250 character(s) left

Attachment(s). None

[ s
| Save |

6) How many ways are there of drawing an ace from one deck of cards and a diamond from a second
deck of cards?

https://www.gsn-vla.com/vla/Student/LessonQuestions.aspx?1.=2098 & CS=174768&S8S=tr... 10/7/2012
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250 character(s) left

Attachment(s): None
ISave_:l

For the next four problems, find the probability of each event happening when a blue die
(numbered one through six) and a red die (numbered one through six) are rolled at the same time.
Give the answer as a fraction and also as a percent.

7} Both numbers are odd.

250 character(s) left

Attachment(s): None

' Y
| Save |
L W7

8) Both numbers are [ess than 5.

250 character(s) left

Attachment(s). None
[save]

9) The blue cube is a 4 AND the red cube is even.

250 character(s) left

Attachmenl(s): None

el )
| Save |

10) The red cube is less than 3 AND the blue cube is greater than 2.

250 character(s) left

https://www.gsn-vla.com/vla/Student/LessonQuestions.aspx?L.=2098&CS=174768&SS=tr... 10/7/2012
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Attachment(s): None

s =
i Save |

For the next two problems, find the probability of each event happening if one number is selected
from the list {2, 4, 8, 8} and another number is selected from the list {8, 7, 8}.

11) The two numbers selected are odd.

250 character(s) left

Attachment(s). Nonhe

r ™
[ Save |

12) The two numbers selected are even.

250 character(s} left

Aftachment(s): None

- -

Q'Save :)l
Review

13) Solve for “x".
2Ax+D=302x+4)

|

250 character(s) left

Attachment(s): None

[.Savejf

14) Solve for "n”.
no4q 2
e _=2n-=
375 %

L

250 character{s) left

Attachment(s): None
;rS_ave .'|

In the next two problems, “y varies directly as x”. Find the constant of variation, and then write an

https://www.gsn-vla.com/via/Student/LessonQuestions.aspx?L.=2098&CS=174768&SS=tr... 10/7/2012
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equation for the direct variation, State both the constant of variation and the equation.

15}y = 4.2 when x = (.84
{ |

250 character(s) left

Attachmeni{s): None

' =
{ Save |

16) y = 1.7 when x = 0.017

{ |

250 character(s) left

Aftachment(s): None

&l -
| Save |

17) identify the slope and the y-intercept for the equation shown below.
x—-6y=1%

250 character(s) left

Attachment(s): None

E =
| Save |

18) Identify the slope and the y-intercept for the equation shown helow.
Ly - 2x+ 2
37 74T

| |

250 character(s) left

Attachment(s). None

" ™y
i Save |

19) Find the x-intercept and the y-intercept for the equation shown below.
x+hy=1]

! !

250 character{s) left

Attachment(s): None

https://www. gsn—vla.comfvla/Student/LessonQuestions.aspx‘?L=209S&CS:I74768&SS:t1'... 10/7/2012
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[Save:i

20) Find the x-intercept and the y-intercept for the equation shown below.
x=3y

[ ]

250 character(s) left

Attachmeni(s): None

fSave]
A w

21) Write an equation for the line that contains the peints (4, 3) and (8, 4).

L |

250 character(s) left

Attachment{s): None
E_Save,:I

22) Write an equation for the line that contains the point (4, 5} and has a slope of 2.

250 character(s} left

Attachment(s): None

[_S._ave :i

23) Identify the slope of a line that is parallel to the line represented by the equation shown below.
2y+ix="4

250 character(s) left

Altachment(s). None
[Save

24} identify the slope of a line that is perpendicular to the line represented by the equation shown below.
x=TTy=4

| | |

250 character(s) left

Attachment(s): None

https://www.gsn-vla.com/vla/Student/LessonQuestions.aspx?L=2098& CS=174768&SS=tr... 10/7/2012
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[Save ]
25) Solve the inequality. State the letter of the correct answer.

_4$i?—}x. .

=21 0 21
21 0 21

250 character(s) left
Attachment(s): None

fSav_ei

28) Solve the inequality.
I

7 — =
&
! |

250 character(s} left

Attachment{s): None

I3 -
|Save |

27) Solve the system of equations by substitution,
2%+ 3y=-8 :
2+ y=9

l |

250 character(s) left

Attachment(s). None
[save]

28) Explain the solution to the previous problem. -

]
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4000 character(s) left

Attachmeni(s): None

s =
| Save |
L o~

29) Solve the system of equations by elimination.
x+2y=3
Sx—3y=72

l

250 character(s) left

Aftachment(s): None
[Savejl

30) Explain the solution to the previous problem.

4000 character(s) left

Attachment(s): None

r =
i Save |

31) Set up a system of equations to solve the following problem: Rachel is 25 years younger than her dad.
The sum of their ages is 75. How old are Rachel and her dad now?

! |

250 character(s) left

Attachment(s): None

- -
{ Save |
[ )

32) Factor.
6x*y— 14z

I |

250 character(s} left

Altachment{s): None

” =
{ Save |
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33) Factor: 7(m + 4) —x(m + 4}

! ]
250 character(s) left
Attachmeni(s): None
ESave t

34) Factor,ab-3b+3-3
250 character(s) left
Attachment(s): None

35) Factor,

y"‘ +22y+21

250 character(s) left
Attachment(s). None
[Save:I

36) Factor.

An® 4 206

250 character(s) left
Attachment(s): None
[Save ]

37) Solve by factoring.
a?+1%a+22=0

250 character(s) left

Altachment(s). None
. [.Savej

38) Solve by factoring.
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e +%m =18
I

250 character(s) left

Attachment(s): None
[Save]

For the next four problems, perform the indicated operation,

39) Find the difference.
dm Y

u+3 ut+3

I

250 character(s} left

Altachment(s); None
[Save}

40) Find the sum.
-3 4
+.
w—2 Sw-2)

I

250 character(s) left

Attachment(s): None
TSave]

41} Find the product.
b b+1
p25h 44 B2

!

250 character(s) left

Attachment(s): None

- N
} Save |
L5 o

42) Find the product.

z z4-9
2

z+3 zZ
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I

250 character(s) left

Attachmeni(s): None

I -
[ Save I

43) Solve the rational equation for “d” and list any restricted values on the denominator.
2d d+3

L2t
3 &

L

250 character(s) left

Attachment(s); None
[Sa\/_e}

44) Solve the rational equation for *m” and list any restricted values on the denominator.
1 2 11

4 m 12
| |

250 character(s) left

Attachiment(s): None
I;Savejl

45} Solve the rational equation for “n” and list any restricted values on the denominator.

250 character(s) left

Attachment(s}): None

i =
| Save |
) i -

g . ...All Finished! Review My Answers
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